Ejercicio.- Calcula:

4 2 1
1 4 1 2 1 3 Pl i
a)§+§+5 b)§+§+§ 7 4 8
d 5 (2 7) 1 5 (2 7 1) f)(§.5_%>.%
)37\5°2) 73 ¢)37\5'273
(311)536 h1[351(21>]
937510 4’5 =13 2 379
1+4 1_1-6+4-10+1-15_6+40+15_61
Js+t3t3 5530t 50 30 30
) 2+1+3_2-15+1-5+3-9_30+5+27_30+5+27_62
)3 9 5 3.15 9.5 5.9 45 B 45 T 45
4+2+1_4-8+2-14+1-7_32+28+7_67
Dztite 78t s a8 7 56 56
4 5 <2 7> 1 57 1 55 73 1.5 25-21-5 25-26 ~—1
)3 52/ 3 3 5 3 3-5 5.3 .5 15 ~ 15 15
5 (2 7 1)_5 (7 1)_5 (7-3 1 5)_5 (7-3 1-5)_5 21—5_
e)3 52 3/ 3 \5 3/ 3 \5.3 3.5/ 3 \5.3 3.5/ 3 15
5 16 55 16 25-16 9 3-3 3
3 15 3.5 15 15 15 3-5 5
(2 c 3) 7_(10 3) 7_(10-4 3-3) 7_40—9 7_31 7_31-7_217
f)3 4) 2 \3 4] 2 3-4 4-3) 2 12 2 12 2 12-2 24
<3 1+1)5 36_(3-5 1-2 1>5 3-2:3 15-2+1 9
g)z 5 10 4 5 \2-5 5-2 10 2:2-5 10 10
16—-25 9 145 9 70 9 61
10 1 10 10 1 10 10 10 10



W1 [35 1(2+1)]_1 [35 1(2-3+1>]_1 [35 16+1_

) 2 2 \3 9/ 2 2 \3:-3 9/] 2 2 9 |
3 17 15 7 15-9 7 135—-7 128

=1—|:-.5——-— = —[——— :1—_—— = - =1— =
2 29 2 18 2-9 18 18 18
2-2-2-2-2-2-2_ 64_1-9 64_9—64_—55

2-3-3 =1 9 1-9 9 9 9



